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QUESTION 1

What characteristic of an object node can prevent it from receiving a value? 

A. transformation 

B. upper bound 

C. effect 

D. weight 

E. ordering 

F. selection 

Correct Answer: B 

 

QUESTION 2

Which stereotype is used on a dashed arrow joining an instance value to a constructor? 

A.  

B.  

C.  

D.  

E.  

Correct Answer: B 

 

QUESTION 3

In the exhibit, what is the meaning of C2 in the protocol state machine diagram? 

A. the trigger for operation m1 

B. the action executed when the corresponding transition is taken 

C. a pre-condition for the operation m1 

Latest OMG-OCUP-300 Dumps | OMG-OCUP-300 PDF Dumps | OMG-OCUP-300 VCE Dumps                               2 / 3

https://www.geekcert.com/omg-ocup-300.html
https://www.geekcert.com/omg-ocup-300.html
https://www.geekcert.com/omg-ocup-300.html


https://www.geekcert.com/omg-ocup-300.html
2024 Latest geekcert OMG-OCUP-300 PDF and VCE dumps Download

D. the guard of the transition associated with m1 

E. a post-condition of the operation m1 

Correct Answer: E 

 

QUESTION 4

What boundary do lightning bolt arrows cross to have an effect? 

A. activity 

B. exception region 

C. expansion region 

D. interruptible region 

E. structured node 

Correct Answer: D 

 

QUESTION 5

What is an abstract type in OCL? 

A. Collection 

B. Integer 

C. Set 

D. Sequence 

E. Bag 

Correct Answer: A 
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